%A, FBERUVLBRICET H1HER

%A, F=Z8

SHM6E5H 1 BRE

B 5 B = B
94 34 23 4
2=
REFRF =] Ba BF

= A — 27 4 27 %
NS 209 £ 114 % 323 4
EL R PNE S CEEPNC i 36 & 23 4 59 %
ERAEYRBAFEMFR 134 4 % 17 %
J3 VERITAS &R 41 £ 24 43 &
ERAFHERFERLFSFER 25 4 b % 30
S5 VERITAS HRZEAR 23 4 34 26 &
ERAFHRERFERL FRER 04 04 0%
EERFHENER 25 % 3% 28 %
ERAFHELHE 134 6 % 19 %
ERAFHRESE = HHE 14 % 4 % 18 %
ERAFHERESHE 4 £ 2% E
ERAFRERRDHE 9% 14 10 %
BERAXF=—HHHE 134 3% 16 £
BRRFE/N\ETHHE E= 2% 9%
ERRXFLEHHE g 14 6 &

=t 437 % 200 £ 637 4




